



















$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (5 - t^2)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$

$$\vec{r} = \begin{bmatrix} (2t - t^2)\hat{i} + (-2t)\hat{j} \end{bmatrix} m$$



Г





